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Arrangement of organic compounds according to boiling point and polarity 


1- Carboxylic acids  ( - COOH ) .
- They are compounds with very high polarity cause it contains one or more carboxylic group .

  ( Each group can form two hydrogen bonds with other carboxylic group ) . 

2- Alcohols  ( - OH ) .
- They are compounds with high polarity cause it contains one or more hydroxyl group ( each group can form one hydrogen bond with other hydroxyl group ) .  

3- Esters ( R - COO - R ) .

4- Aldehydes ( CHO ) Then Ketones ( CO ) .
 - They are polar compounds because the bond between carbon atom and oxygen 
    atom has high electro negativity  .
- Aldehydes boiling point is higher than ketons due to the presence of one hydrogen 
    atom that can make hydrogen bond .

    
5-Primary amine ( R- NH2 )then secondary amine ( R-NH-R ) .
- It is polar compounds contain H linked to N , so it can make hydrogen bond 
   between each other.

-  ( because the Nitrogen is less in electro negativity than Oxygen ) so it comes after 
   aldehydes and ketones in boiling points . 


6- Ethers ( - O - ) .

7- Tertiary amine ( R3 - N ) . 
- less than ethers because the polarity between ( N-C ) is less than the polarity between ( O - C ) .

8- Alkyl halide ( R - Cl ) . 

9- Branched chain alkanes . 

10 - Straight chain alkanes . 
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